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datal <- data. frame (Y=Y, X=X, Z=7)
datal

cor (datal)

regl < Im(Y X+Z, data=datal)
summary (regl)

#

# ZELBREZD 1

#

X[1] <~ 4.01

data2 <~ data. frame (Y=Y, X=X, Z=7)
data?2

cor (data2)

reg2 <- Im(Y X+Z, data=data2)
summary (reg2)

#

#t ZELHBIEZD 2

#

X[1] <= 4.05

data3 <- data. frame (Y=Y, X=X, Z=7)
data3

cor (data3)

regd <- Im(Y X+Z, data=data3)
summary (reg3)
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#

# VIF &

#

vifregx <- Im(X"Z, data=data3)

vifx <= 1/(1-summary (vifregx) $r. squared)
vifregz <- Im(Z"X, data=data3)

vifz <~ 1/(1-summary (vifregz) $r. squared)
vifl <- data. frame (vifx=vifx, vifz=vifz)
vifl
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datal <- read. table(“ex3-3. csv”, header=TRUE, sep=",”)

datal

#

# H[EYFEFRET T2 v B

#

regl <- Im(CE"YD, data=datal)

summary (regl)

windows ()

plot (resid(regl))

dwtest (regl)

#

# oEHLEar T - A —F v ME

#

residl<{-resid(regl)

residl_lagl<-c(0, resid(regl)[1:length(residl)-1])
CE_lagl<-c(0, datal$CE[1:1length(datal$CE)-1])

YD lagl<-c(0, datal$YD[1:length(datal$yYD)-1])

dataset_dw <- cbind(datal, residl, residl_lagl, CE_lagl, YD _lagl)
rhol<{-coef (summary (1m (residl residl_lagl-1))) [1, 1]
CE_star<-cbind(c (datal$CE[2:1length (datal$CE) ]-rhol*CE_lagl[2:length(datal$CE)]))
YD_star<-cbind(c (datal$YD[2:length (datal$YD) ]-rhol*YD_lagl[2:length(datal$YD)]))
dataset_dw2<-cbind (CE_star, YD_star)
cochrane_orcutt<-1m(CE_star YD_star)

summary (cochrane_orcutt)

dwtest (cochrane_orcutt)
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datal <- read.table ("hetero. csv”, header=TRUE, sep=",")

datal

regl <- Im(y"x, data=datal)

summary (regl)

windows ()

plot (resid(regl))

bptest (regl)

#

# OB R XD kL

#

yy=datal$y/datal$x

xx=1/datal$x

reg2 <- Im(yy xx)

summary (reg2)

plot (resid(reg2))

bptest (reg?)



